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QUESTION 1

What are three examples of physical security? (Choose three.)
A. security cameras

B. access door keypads

C. a mantrap

D. man in the middle

E. intrusion detection and prevention

Correct Answer: ABC

QUESTION 2

Which two statements are true about a service-centric data center model? (Choose two.)
A. A service-centric data center model pools compute resources.

B. A service-centric data center model pools storage resources.

C. A service-centric data center model does not pool storage resources.

D. A service-centric data center model does not pool compute resources.

Correct Answer:. AB

QUESTION 3

You are asked to provide a design proposal for an enterprise customer that currently has a three-tier
switching infrastructure. The customer wants your design to collapse their Layer 2 infrastructure into two
distinct layers.

In this scenario, what are two benefits of moving to the new infrastructure? (Choose two.)

A. The total number of devices is increased.

B. The overall network performance is increased.

C. The number of connections between devices is decreased.

D. The number of protocols used is decreased.

Correct Answer: BC
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QUESTION 4

In your network design, you must ensure that all user sessions passing through an SRX Series device
remain active if there is a device failure.

Which mechanism will accomplish this design requirement?

A. chassis clustering

B. MC-LAG

C. Virtual Chassis

D. VRRP

Correct Answer: A

QUESTION 5

What are two reasons why you would send an RFP to multiple vendors (Choose two.)
A. to eliminate vendors who cannot meet the requirements

B. to warranty the process against fraud

C. to satisfy international law requiring a minimum of three vendors

D. to compare competing proposals

Correct Answer: AD
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